[ BANK PRE MOCK TEST -5 ]

Direction (1-5): Study the following information
and answer the questions given below.

Eight friends Ranjit, Ranjan, Rajan, Rohan,
Raman, Rishab, Rishu and Rahul are sitting
around a square table in such a way that four of
them sit at four corner of the square while four
sit in the middle of each of the four sides. The
ones who sit at the four corners face outside
while those who sit in the middle of the sides
face the centre of the table.

Rohan sits third to the right of Rishu. Rishu
faces the centre. Raman sits third to the left of
Rajan. Rajan does not sit in the middle of the
sides. Only one person sits between Raman and
Rishab. Rishab is not an immediate neighbour
of Rajan. Rahul faces the centre. Ranjit is not an
immediate neighbour of Rishab.

1. What is position of Rajan with respect to

Ranjan?

(1) Third to the right

(2) Rajan and Ranjan sit diagonally opposite

to each other

(3) Second to the right

(4) Second to the left

(5) Fifth to the right
2. Who sits exactly between Raman and

Rishab, when counted from right of Raman?

(1) Rahul (2) Rohan

(3) Ranjit (4) Rajan

(5) Rishu and Ranjit
3. Which of the following pairs represents the

persons seated in the middle of the sides

and face each other?

(1) Rishu, Raman

(3) Rajan, Rohan

(5) Rahul, Raman
4. If Ranjit is made to face the opposite

direction, who would sit to his immediate

(2) Ranjit, Ranjan
(4) Rishab, Rahul

right?
(1) Rishab (2) Raman
(3) Rohan (4) Rahul
(5) Rishu
5. Four of the following five are alike in a

certain way and so form a group. Which is
the one that does not belong to that group?
(2) Rajan
(4) Rohan

(1) Ranjan
(3) Ranjit
(5) Rishab

Direction (6-10): Study the following
information to answer the given question.

P,Q, R, S, T, U, Vand W are eight people
seated in a straight line but not necessarily in
the same order. Some of them are facing south
while some are facing north.

Only two people sit right of W. Two people
sit between W and R. P sits second to right of R.
Two people sit between P and V. V does not sit
adjacent to R. Q sits third to right of U. U does not
sit adjacent to R. Immediate neighbor of Q faces
opposite direction (Opposite direction means if
one neighbor faces north direction then other
faces south and vice-versa). Those who sits on
the extreme ends of the line faces opposite
direction (Opposite direction means if one
neighbor faces north direction then other faces
south and vice-versa). S does not sit adjacent to
T. Immediate neighbor of S faces same direction
(Same direction means if one neighbor faces
north then other also faces north and vice-versa).
Q sits second to left of S and both face same
direction. Immediate neighbor of W faces opposite
direction (Opposite direction means if one
neighbor faces north direction then other faces
south and vice-versa). Q faces towards north
direction.

6. How many people sits left of U?

(1) Three (2) Four
(3) No one (4) Five
(5) One
7. Who sits second to the left of R?
(1) p (2) Q
(3) s 4 U
(5) Cannot determined
8. How many person sit between W and R?
(1) Two (2) Three
(3) Five (4) One
(5) Four
9. Four of the following five are alike in a

certain way and hence they form a group.
Which one of the following does not belong

to that group?

(1) R (2) T

(3) s (4) U

(5) W

10. Who sits to the immediate right of T?

(1) v (2) W

() Q 4) P

(5) R
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Direction (11-12): Read the given information

carefully and answer the given question.
Point I is 8 m to the west of Point J. Point K

is 4 m to the south of Point J. Point L is 4 m to

the east of Point K. Point X is 6 m to the north of

Point L. Point Y is 8 m to the west of Point X.

Point Z is 2 m to the south of Point Y.

11. How far and in which direction is Point Z

with respect to Point I?

(1) 4 m to the east (2) 8 m to the west

(3) 4 m to the west (4) 8 m to the east

(5) 6 m to the south

12. If point Z is 4m to the north of point A, then
what is the distance between A and L?

(1) 11 m (2) 8 m
(3) 15m (4) 5m
(5) 9 m

Direction (13-15): Study the following
information carefully to answer these
questions.

X x Y’ means X is wife of Y.
X + Y means X is father of Y’.
KX+ Y means X is son of Y.
X — Y means X is sister of Y.
13. In A+ B + C, then how is C related to A?
(1) Brother (2) Sister
(3) Cousin (4) Brother or Sister
(5) None of these

14. Which of the following represents ‘P is
mother of Q?

(1) PxD+F-Q

(3) DxP+F-Q

(5) None of these
15. InG-E + Q x M, then how is Q related to G?

(1) Father

(2) Mother

(3) Paternal Aunt

(4) Cannot be determined

(5) None of these

Direction (16-20): Study the following
information carefully and answer the questions
below:

(2) PxD+F-Q
(4) DxP=F+Q

Seven persons E, F, G, H, I, K and L who got
married to their female friends i.e. M, N, O, X,
Y, Z and U but not necessarily in the same order.
They all married in a same week starting from
Monday but on different days and not necessarily
in the same order. They all belong to different
cities i.e. Kolkata, Mumbai, Pune, Hyderabad,
Banglore, Kota and Chandigarh but not
necessarily in the same order.

G belongs to Kolkata. The one who belongs
to Banglore married with Z. H married with X but
one of the day after Thursday. I get married on
Wednesday and he belongs to Pune. L get married
on Sunday but he does not marry N or Z.
There are two day gap between the one who
belongs to Kolkata and the one who belongs to
Kota. F belongs to Mumbai and he married with
O on a day immediately after E who belongs to
Hyderabad. K belongs to Banglore and get married
on the day immediately after G but before the
one who belongs to Kota. F belongs to Mumbai
and get married on the day immediately after the
one who marry with M. The one who get married
on Monday does not belongs to Kota or Kolkata. I
does not marry with N or U.

16. Who among the following belongs to Kota?

(1) H (2) F
) G 4 K
(5) L
17. Who among the following married with Y?
(1) H (2) I
3) F 4 K
(5) E
18. The one who belongs to Hyderabad married
with?
(1) © (2) Y
) M (4) X
(5) Z
19. The one who belong to Banglore married on
which day?
(1) Friday (2) Monday
(3) Tuesday (4) Thursday

(5) None of these
20. G get married on which day of the week?

(1) Monday (2) Friday

(3) Saturday (4) Thursday

(5) Wednesday
Direction (21-25): In each question below, there
are three statements followed by four
conclusions answered I, II, III and IV. You have
to take the given statements to be true even if
they seem to be at variance with commonly
known facts and then decide which of the given
conclusions logically follow(s) from the given
statements.

21. Statements:
All eyes are nose.
Some noses are hair.
No hair is hands.
Conclusions:
I. Some noses are not hair.
II. Some eyes are hair.
III. Some noses are not hand.
IV. Some eyes are not hand.
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22.

23.

24.

(1) All follow

(2) III and IV follow

(3) I and III follow

(4) Only III follows

(5) None of these

Statements:

All buses are bullock cart.

All flyovers are bus.

Some buses are cars .
Conclusions:

I. All flyovers are bullock cart.
II. All bullock carts are flyover.

III. Some flyovers are not bullock cart.

IV. Some flyovers are not car.
(1) None follows

(2) Only I follows

(3) I and either II or III follow
(4) Only either II or III follows
(5) None of these
Statements:

All lotus are marigold.

All lily are lotus .

No jasmine is lotus .
Conclusions:

I. Some lily are marigold.

II. No lily is marigold.

ITI. Some marigold are lily.

IV. No marigold are jasmine.
(1) T and either II or III follow
(2) I and III follow

(3) Only III follows

(4) OnlyI follows

(5) None of these
Statements:

All summers are winter,

No winter is spring.

Some winters are umbrella.
Conclusions:

I. All summers are spring.
II. Some summers are spring.
III. Some summers are not spring.

IV. Some umbrellas are summer.

25.

(1) None follows

(2) II and IV follow

(3) Only either I or II follows

(4) II and III follow

(5) Only IIT follow

Statements:

No parrot is crow.

All crows are horse.

All parrots are rabbit.
Conclusions:

I. No rabbit is horse.

II. Some horses are rabbit.

ITI. Some parrots are not rabbit.
IV. Some rabbit are not parrots.
(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only either I or II follows

(5) Only I and II follows

Direction (26-30): In these questions,
relationship between different elements is
shown in the statements. These statements are
followed by two conclusions. Mark answer-

26.

27.

28.

29.

30.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow.
Statements:
I>J>K,K>M<N=>0
Conclusions:

I. M>0O II.
Statements:
P>R>S>T,S>X<Y
Conclusions:

I. Y>P II.
Statements:
D>E<F,G>=H=F
Conclusions:

I. D>F II.
Statements:
A>B=R,5<R,S5<0<M
Conclusions:

I. A>S II.
Statements:
B<F<G,E<Y<G
Conclusions:

I. B<G II.

R>X

G>E

M=>R

E<G




22.

23.

24.

(1) T+t T w3 2

(2) III 7 IV STERT & 2
(3) I III STERTT T 2l
(4) Sae I STTET0T FT@ 2
(5) ¥ W % T

Y :

gt 7g Sermed B
st g =9 2

%o 99 FR 2

TRy :

I @9 7o Sermet 2

. g Sermet ot 2

I11. 3 ol Serme! el 2
IV. %5 o %1 & 2

(1) ¥ ergaeor & wea B
(2) et 1 STTEOT el &l
(3) 1@ =1 @ II 1[I ST & &
(4) e = @A 103 11 STERT F@ 2
(5) ¥ | *E T

Y :

geft wHEet a2l

gl fereht et 21

1 T FE & 2l
Treery :

I %o foel T 2

1. 1§ feeh == R
I11. %o T foet 21

V. ¥ ey =eedt T 3
(1) I9e II 1 TIT ST&T T 2
(2) 1@ III STER0T T 2
(3) el III STTERTT el &
(4) et 1 STTET el &l
(5) = | *IE T

Y

geft o = R

wrE Tt g & 2

w9 wdl B B

=y :

L @ T awd Bl

1. S T a5 Bl

II1. B T a5 T8
IV. B o1 T 78 2

25.

(1) = ereRor &t & 2l

(2) I @9 IV STE0 &30 2
(3) Faa A @ [ A1 I ST H@T 2
(4) II 9o III STERT T 2
(5) saa III SITET HT@l 2l
<R :

gt e Tl 2

Tl e seT 2

ot a @ R

Ty -

I i3 TR Sl T Bl

II. = =rer @ 2

III. B dd @ & 2l

IV. |9 G @ el 2

(1) ¥ rgaeor & wa B

(2) ot 1 STTET e Bl

(3) o I TR HT 2

(4) = @ I3 I STHER0T &L 2
(5) Fae 1 11 STER0T & 2

9T (26-30): weAT # fafi= ot & si=r dae, Sl
% Forie T ¥ e, =Y st gRT e foRar S
%1 TaU U G & TR UT TSR T I WY AR
3fea 3T A

26.

27.

28.

29.

30.

(1) ot et frewd [ 9 21

(2) 3% wee frerd 1T o R

(3) =f% =1 &t frekd I 11 T R
(4) afs = @ frewd 11 & 11 9 21
(5) =% = frerd 1 @em 11 9 €
YT :

I>J>K,K>M<N>0
e
I. M>0O
%9 :
P>R>S>T,S>X<Y
e -

I. Y>P

Y :
D>E<F,G>H=F
Ty -

I. D=>F

YT :
A>B=R,S<R,S<0<M
e -

I. A=S

%9 :
B<F<G,E<Y<G
e -

I. B<G

II. O=M

II. R>X

II. G>E

II. M>R

II. E<G




Direction (31-35): Study the following
statements carefully and answer the given
questions.

In a certain code 'India beats China' is
written as 'ra ja sa’, 'China beats Russia' is
written as 'sa ja ga', 'Russia beats no any team'
is written as 'ga na pa ta ja', and 'team
perfomance’ is written as 'pa ma'.

31. What is the code for 'team'?

(1) ra (2) ta
(3) pa (4) ma
(5) sa
32. What does 'ra' stand for?
(1) China (2) India
(3) beats (4) Russia

(5) performance

33.

34.

35.

Which of the following is the code for 'no
any perfomance India'?

(1) na ta ma ra (2) na ta ga pa

(3) na ta ja sa (4) na ma sa ga

(5) None of these

What is the code for 'any'?

(1) na

(2) ta

(3) ma

(4) can't be determined

(5) naorta

Which of the following is the code for 'mo
team excellent'?

(1) ta na sa (2) napaga

(3) ta na ze (4) tapaca

(5) can't be determined
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(1) ra (2) ta

(3) pa (4) ma

(5) sa
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(1) China (2) India
(3) beats (4) Russia

(5) performance

33.

34.

35.

=1 # ¥ 'no any perfomance India’ %1 He = ??
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(1) na

(2) ta

(3) ma

(4) Truifa =& fan <1 wehan
(5) naorta

= % ¥ #9 'no team excellent' &1 w2 2?

(4) na ma sa ga

(1) tana sa (2) napaga

(3) tana ze (4) tapaca

(5) fruifta ==& foram < wehan







